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QUESTION 1

Identify three reasons for using a recovery catalog with Recovery Manager (RMAN). (Choose three) 

A. to report on the database schema at an earlier point in time 

B. to store backups that would cause the controlfile to become too large 

C. to allow database duplication without a connection to the target instance 

D. to allow database duplication without a connection to the auxiliary instance 

E. to store backup metadata that would cause the controlfile to become too large 

Correct Answer: ACE 

 

QUESTION 2

Which three are true about Automatic Workload Repository (AWR) snapshots? (Choose three.) 

A. They are generated if STATISTICS_LEVEL is set to TYPICAL. 

B. They are generated if STATISTICS_LEVEL is set to ALL. 

C. They are always created automatically. 

D. They are always created manually. 

E. They can be retained forever. 

F. They are generated if STATISTICS_LEVEL is set to BASIC. 

Correct Answer: ABE 

A - TRUE. Only STATISTICS_LEVEL=BASIC stops them being generated B - TRUE. Only
STATISTICS_LEVEL=BASIC stops them being generated C - FALSE. You can create them manually. D - FALSE. The
DB will, by default, create them automatically every hour E - TRUE. You can setup AWR Warehouse, allowing these
reports to be kept, and queried, forever. F - FALSE. STATISTICS_LEVEL=BASIC stops them being generated 

So, ABE is correct. 

Ref: https://docs.oracle.com/en/database/oracle/oracle-database/19/refrn/STATISTICS_LEVEL.html 

 

QUESTION 3

Which three are true about RMAN duplexed backup sets or image copies? (Choose three) 

A. A backup set may be duplexed with both copies written to disk. 

B. An image copy on disk can be copied to disk. 
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C. A backup set may be duplexed with both copies written to sbt. 

D. A backup set may be duplexed so that one copy is written to sbt and the other to disk. 

E. An image copy on disk can be copied to sbt. 

F. An image copy on sbt can be copied to disk. 

Correct Answer: ABC 

 

QUESTION 4

Your SALES_ROOT application container has two application PDBs. 

The SALES_APP application has a common table, FIN.REVENUE, in the two PDBs. 

Examine this query and its output: 

Which two are true? (Choose two.) 

A. The CONTAINERS clause cannot be used in queries on the REVENUE table. 

B. The REVENUE table must be a list-partitioned table. 

C. The MAPTABLE tables defines a logical partition key on a commonly used column for the REVENUE table. 

D. The MAPTABLE table is a metadata-linked table. 

E. A container map exists for the REVENUE table, but is not enabled. 

F. The REVENUE table partitions are not pruned across the PDBs automatically. 

Correct Answer: CF 

C and F are correct. 

Tested in lab with exact same setting like in the output shown. 

A. -> incorrect - The CONTAINERS clause can be used. 

B. -> incorrect - It can be also a range based. 

C. -> CORRECT - https://docs.oracle.com/en/database/oracle/oracle-database/19/multi/administering-application-
containers-with-sql-plus.html#GUID-AAF93A02-7C70-4024-8758-E351C213543E 
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D. -> incorrect - Regular table 

E. -> incorrect - shown in the output CONTAINER_MAP = YES 

F. -> CORRECT - because CONTAINERS_DEFAULT is not enabled for the revenue table. 

 

QUESTION 5

Which three are true about Oracle pluggable databases (PDBs)? (Choose three) 

A. A PDB can be plugged into a CDB only if both are of the same Oracle Database release. 

B. An unplugged PDB can be plugged into multiple CDBs simultaneously by sharing data files. 

C. A PDB unplugged from a container database (CDB) can be plugged into a different CDB without altering any of its
schemas. 

D. A non-CDB can be converted into a PDB. 

E. A PDB in a remote CDB can be accessed transparently there by aggregating results from local and remote PDBs. 

F. A PDB created from PDB$SEED must be set to READ WRITE after loading data. 

G. A PDB created from PDB$SEED must be set to READ ONLY after loading data. 

Correct Answer: CDE 
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